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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 7352 4.7 2.6 10 46.9 99.9
2 7340 1.5 1.1 3 51.2 99.8
3 7160 2.2 1.9 6 37.4 97.3
4 7275 3.6 1.4 6 60 98.9
5 7251 1.7 1.6 6 28.6 98.6
6 7207 3.2 1.7 6 52.9 98
7 6910 2 1.3 5 40.2 93.9
8 7242 8.9 5.2 18 49.4 98.4
9 7279 2.1 1.3 4 53.2 98.9

10 7286 5.7 3.2 16 35.7 99
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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SECTION A

Answer all questions.

1.	 (a)	 Define the terms information and knowledge and then give two different examples to 
illustrate the relationship between information and knowledge.	 [6]

	

	

	

	

	

	

	

	

	

	

	

	

	 (b)	 Other than by aiding the decision making process, describe using appropriate examples, 
two ways in which good quality information can add value to an organisation.	 [4]
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Question 1 

a) 

b) 



Question 1 

a) 

b) 

5 

4 

Sticky Note
Candidate has identified two ways and has produced examples for both to show how they add value.


Sticky Note
Both definitions correct, information is correct for both example and so is knowledge for the second example.  1st knowledge example is still information as cannot see the rule which has been applied.




Question 1 

a) 

b) 



Question 1 

a) 

 

b) 

 

3 

2 

Sticky Note
Were given both ways but neither example is definitive enough both lack detail.


Sticky Note
Both information and knowledge definitions are correct.  Information is fine for their only example but no rule used to gain the knowledge mark.




Question 1 

a) 

b) 



Question 1 

a) 

b) 

1 

0 

Sticky Note
Ways not mentioned.


Sticky Note
Only thing correct is the definition of information.
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7. State what is meant by the term EPOS, describe the process that takes place at the EPOS and
give two benefits of EPOS for the customer.	 [5]
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Question 7 

a) 



Question 7 

a) 
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Sticky Note
Full marks, 1st for explaining the term, 2nd for scanning the barcode and 3rd for stock is deducted from the database.  Given borderline for 1st benefit as doesn’t actually mention queues and 2nd is for different methods of payment.




Question 7 

a) 



Question 7 

a) 

3 

Sticky Note
Gain first 3 marks (term explained, barcode scanned and stock decremented) but benefits are too vague to award a mark.




Question 7 

a) 



Question 7 

a) 

 

 

3 

Sticky Note
Gain first 3 marks (term explained, barcode scanned and stock decremented) but benefits are too vague to award a mark.
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YOU MUST REFER TO YOUR OWN SPREADSHEET TO ANSWER
THE FOLLOWING QUESTION.

IF NO SPREADSHEET EVIDENCE IS SUBMITTED THEN NO MARKS
CAN BE AWARDED.

MAKE SURE THAT YOU SHOW IN YOUR ANSWER WHERE THE PROCESSES,
FUNCTIONS/FORMULAS CAN BE FOUND IN YOUR SPREADSHEET.

FOR EXAMPLE PAGE 6 CELL D4.

10. (a)	 Describe the purpose or function of one formula from list A and two different formulas
from list B, which you have used in your spreadsheet.	 [6]

A: SUM, COUNT, MAX, MIN, AVERAGE, RAND
B: Single IF, Multiple IF, DATE, ROUND
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(b)	 Describe two methods you used in your spreadsheet to try and ensure that incorrect data 
was not entered in your spreadsheet.	 [6]

	 (c)	 Describe a SORT used in your spreadsheet and state why you required the data to be 
sorted.	 [2]

	 (d)	 Describe an example of absolute addressing you used in your spreadsheet and give the 
reason you used it.	 [2]

ENSURE YOU ATTACH THE PRINTOUTS OF YOUR SPREADSHEET TO YOUR 
EXAMINATION ANSWER PAPER.

16



Question 10 





Question 10 
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Sticky Note
Maximum is three as only one method looked at.  Gained the first mark for naming method with field and the second for giving the values of the range check but saying more accurate is just a repetition of the question.


Sticky Note
Candidate has given what and why for SUM and for the Single IF covers both branches and hence each gains 2 marks but the Multiple IF answer, only gives the general principle and so gains 1 mark.




 

 

2 

0 

Sticky Note
Candidate does not understand what absolute addressing is.


Sticky Note
Has the what and the why.




Question 10 





Question 10 

 

 

1 
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Sticky Note
Stated both methods with the fields they are acting on but no values to gain other marks.


Sticky Note
Gives the what for SUM, the explanation for Round does not explain what it does and the Single IF lacks a little detail.




 

 

1 

0 

Sticky Note
Again has the what but the why attempt is too vague.


Sticky Note
Doesn’t explain anything and no evidence of absolute addressing being used.




Question 10 





Question 10 

 

 

3 

1 

Sticky Note
Method not mentioned but explained.


Sticky Note
Candidate gives all 3 whats but fails to give a why for any of the three, Multiple IF could easily have gained 2nd mark if he had showed what happens when condition is met.




2 

2 

Sticky Note
What and why explained quite clearly.


Sticky Note
What and why for the sort.
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GCE INFORMATION AND COMMUNICATION TECHNOLOGY - IT1 
 


Mark Scheme - Summer 2014 
 


1 (a) Information is processed data or data in a context or with a meaning. 
Knowledge is derived from information by applying rules to it. 
 
Example: Information Race times Swimmer 1 63.6s, Swimmer 2 59.3s, 
Swimmer 3 59.7s  
Knowledge: Swimmer 2 is the fastest and consequently wins. 
 
Example: Information,  John’s birthday is 11th May 2014  
Knowledge, John is 18 and so now he can vote in the next election. 
 
The rule must be stated or implied. (answer is likely to show two stages) and 
evidence of application 
 


1 
1 
 
1 
1 
 
 
1 
1 


1 (b) (1 mark for process 1 mark for example) x2 
NOT aiding the decision making process 
 
Process: Monitor progress 
Example: A shop analyses the performance of its POS terminal operators 
and warns operators who are too slow or make too many mistakes. 
Information obtained by market research and sales figures can help achieve 
this. 
 
Process: Can target reasoning and strategy (resources) making to gain 
advantage over competitors 
Example: Buy more of a certain commodity because sales are good. 
Advertising and marketing a product should be aimed at people likely to buy 
it otherwise it is a waste of time. 
Example: Information can identify gaps in a particular market which can 
then, on the basis of sound information be filled. 
Example: A manufacturer spends money developing a new product because 
they have seen a gap in the market. A company developed special sized 
shampoo bottles when airline companies limited the amount that could be 
taken into the cabin. 
Information about customers’ buying habits is valuable here and can lead to 
an organisation or company becoming more profitable. Information can tell 
an organisation how well it is doing compared to its competitors. 
Example can be worth 2 marks if concept of targeting resources is 
clear. 
Example 1: Company decides to spend money on advertising in Area B to 
promote a particular product. (‘… because they have noticed sluggish sales’ 
may qualify for spotting trends mark). 
Example 2: Information from research is used to identify gaps in a particular 
market which can then be filled by developing a new product. 
 
Process: Spot trends 
Example: Analyse sales data and realise when something is out of fashion 
e.g. sales of tape recorders or if one region buys more of something than 
another. 
 


2x2 
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7. Electronic Point Of Sale (1)  
Barcode scanned (1) then other point from the list below 
Code matched. 
Price returned to screen. 
One deducted from stock. 
Reorder level checked. 
Automatic reordering. 
Print itemised bill. 


Any two from:  
Advantages  
Less need for physical security as not have to carry as much cash.  
Less time spent waiting in queues so happier.  
Gives them additional services e.g. cashback, topping up your phone. 
Allows the customer a variety of payment methods.  
Allows more special offers – loyalty cards, BOGOF, vouchers.  
Allows self -scanning. 
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Before starting to mark question 10 look through the spreadsheet printouts to determine how the 
candidate has identified pages and screenshots.  
 
In reading each answer to questions 10 (a), 10 (b) and 10 (c) look for the page or printout indicated. If 
you cannot see the item, look at the page (printout) before and after the one indicated. If you cannot 
see the item then no mark can be awarded.  


 
10a Two marks for each formula (1 from A and 2 from B)  


No mark for naming formula up to 2 marks for description of what it  
Does. Purpose plus extension or purpose plus detailed description  
of data used gains both marks. (What and why)  
A: SUM, COUNT, MAX, MIN, AVERAGE, RAND  
B: Single IF, Multiple IF, DATE, ROUND  
e.g.  
My Count formula on page 5, cell D24, counts the number of numbers in  
cell range A23 to D23 (1) It can help you work out the mean of a set of  
numbers by giving you the number to divide the total by (1). COUNTIF, etc, are also 
acceptable.  
RAND generates a random number between 0 and 1 (1) in my range, on  
page 10, it is used to generate the number of sales of hot cross buns in  
cell E25 (1).  
NOTE The use of RAND to generate a unique number is incorrect  
I used the SUM function (SUM C2:C24) in column C of page 3 to add up all the 
costs of the different items sold every week (What) to work out my total income 
(Why).  
I used SINGLE IF in cell E14 on page 5 to work out if the account holders were 
overdrawn =IF (D2 <0, “ACCOUNT OVERDRAWN”, “Account in credit”) the 
message “ACCOUNT OVERDRAWN” appears and if the amount is not negative 
then the message “Account in credit” appears.  
I used the DATE function in cell F3 on page 2 to work out the difference in days 
between when the payment should have been made and when it was actually made 
so that interest could be charged on the outstanding balance.  
NB - NOW or TODAY are acceptable but must refer to a printed invoice otherwise 
the candidate could use DATE which is also acceptable. DATE function can reduce 
data entry errors.  
Must be specific and related to work in their sheet.  
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10b What (1) Further detail (1) Why or customised error message (1) 
2 x one mark for the correct name of a method and up to 2 marks for further 
details. 
Any validation method or spinners or drop-down boxes.or tick boxes 
Examples: 
• I used a list box on transport methods on page 4 in cell D3 (1) which meant 
users were restricted to a set of choices of data (1) to the items in the list such as 
car, bus, train, bike, walk (1) or speeded up the entry process. 
• I applied a range check on hotel room number in cell F5 on page 6, (1) by only 
allowing whole numbers between 1 and 99 to be entered (1), because there are 
only 99 rooms in the hotel (1) (Alternatively - I created an error message “data must 
be between 1 and 99”. (1)) 
 


2x3 


10c  What and why  
I sorted the names of my customers on page 13 as it made it a lot easier  
to look for people when their surnames were in alphabetic order. / to make a list 
ready for Vlookup.  
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10d What and why  
I used absolute addressing to help with the use of VAT in my calculations.  This can 
be seen on page 5 cell a13.  If the rate of VAT changes all I have to do is to change 
the value in this cell and it changes the total price of every other component. 
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